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GROUP—A / ©i9—A

BOTANY

Directions : Answer the following questions
by selecting the correct option.

g

13

Which element is located at the centre
of the porphyrin ring in chlorophyll?

(A) Manganese
(B) Calcium

(C) Magnesium
(D) Potassium

The isotope of carbon used extensively
for studies in photosynthesis is

(A) 13¢
(B) 14C
(C) 15¢
(D) 16¢

Which triose phosphates are produced
on splitting of fructose 1,6 bisphosphate
during glycolysis ?

(A) 3-PGA and 2-PGA

(B) 3-PGAIld and 1, 3-DPGA
(C) 3-PGAIld and DHAP

(D) 3-PGA and DHAP

A red biood cell (RBC) was kept in a
certain solution for few minutes and it
got burst. The said solution was

(A) isotonic solution

(B) hypotonic solution

(C) hypertonic solution

(D) All of the above

How many molecules of NADH + H* are

- produced on complete oxidation of one

molecule of glucose during aerobic
respiration?

(A) 6 molecules
(B) 5 molecules
(C) 8 molecules
(D) 10 molecules
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The water potential and osmotic potential
of pure water are

(A) 100 and zero
(B) zero and zero
(C) 100 and 100

(D) zero and 100

Needle-shaped crystals of calcium
oxalate are called

(A) raphides

(B) cystoliths

(C) otoliths

(D) None of the above
Gas vacuoles are found in
(A) blue-green algae

(B) purple and green photosynthetic
bacteria

(C) amoeba
(D) Both (A) and (B)

In which cell organelle of animal cells
lipid like steroid hormones are
synthesized?

(A) Golgi body

(B) Smooth endoplasmic reticulum
(C) Rough endoplasmic reticulum
(D) Mitochondria

Which of the following animals is mostly
used in genetics experiment?

(A) Butterfly
(B) Fruitfly
(C) Housefly

(D) Dragonfly

10.
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A

In nature, cleistogamous flowers are
A)

(B)
(C) wind pollinated

self-pollinated
insect pollinated
(D) bird pollinated

Which of the following alkaloids is used
as medicine to treat asthma?

(A)
(B)
(©)
(D)

Reserpine
Strychnine
Quinine
Daturine

Which one is produced by oxidation of
essential oil or volatile oil?

Gum
Latex
Resin

None of the above

(D)
Cellulose is a polymer of
A)
(B)
(©)

o (alpha) glucose
o (alpha) fructose
B (beta) glucose

(D) B (beta) fructose

Which of the following genotypes does
not produce any sugar polymer on the
surface of RBC? ~

IAIA
(B) 1Bi
(C) IAIB

(D) i

1.
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14.

15.
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Teichoic acid is present in

cell wall of gram-positive bacteria
cell wall of gram-negative bacteria
capsid of virus

protoplasm of Mycoplasma

Early blight of potato is caused by

(A) Phytophthora infestans
(B)
(©)

D)

Ustilago nuda
Macrophomina Phaseoli

Alternaria Solani

Virus attacking blue-green algae is
known as

(A)
(B)
(€)
(D)

cyanophage
coliphage
mycophage

zoophage

Modification of petiole into leaf like
structure is called

A)
(B)
(C) phyllode

)

cladode

phylloclade

pistillode

The part of pistil which receives pollen
grains is called

(A)
B)
(C) stigma

ovary

style

(D) ovule

(5)
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(A

Nitrogen fixing microbe associated with
Azolla in rice field is

(A)
(B)
()
(D)

Cyclic photophosphorylation results in
the formation of

Anabaena
Frankia
Spirulina

Tolypothrix

(A)

(B)
(C)

ATP, NADPH and O,
ATP

NADPH

(D) ATP and NADPH

Water soluble pigments found in the
vacuole of plant cell are

(A)
(B)

(C) anthocyanins

chlorophylls

carotenoids

(D) xanthophylls

Number of capsomeres found in TMV is
(A) 3120
(B)

(C)

1230
2130
(D) 231

Which one helps in the conversion of
protein into ammonia?

Rhizobium Leguninosarum
(B)
(©)
(D)

Nitrobacter Vulgaris
Azotobacter Chroococcum

Bacillus Mycoides

(6)
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Which of the following elements is
necessary for  translocation  of
carbohydrate in plants?

(A)
(B)

Iron

Molybdenum
()
(D)

in peritrichous bacteria, flagella occur

Manganese

Boron

(A)
(B)
(€)

at one end of the body

at both ends of the body
all over the body surface
(D) None of the above

Dwarfness can be controlled by treating
the plant with

(A)
(8

(C) auxin

gibberellic acid
cytokinin
(D) antigibberellin

When a fatty acid (Tripalmitin) is used
as substrate in respiration, the RQ will
be

A 1
(B)
(C) 07

0.9
(D) 12

Which one is a 4-carbon compound
produced as intermediate compound in
Krebs' cycle?

(A)
(B)
(C)
(D)

Citric acid
o -ketoglutaric acid
Oxalosuccinic acid

Succinic acid

(7)
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During monsoon, the rice crop of
eastern states of India shows lesser
yield due to limiting factor of

(A) carbon dioxide (CO,)
(B) light
(C) temperature

(D) water

Which of the following does not cause
opening of stomata?

A)
(B)
(©)

Light
Increased pH
Reduced pH
(D)

Which of the following chemicals serves
as an antitranspirant?

Low CO, concentration

(A)

(B)
(C)

Cobalt chloride
Potassium iodide
Phenyl mercuric acetate

(D) Dimethyl mercury

Which pigment is involved in
photoperiodic change in plants?

(A) Phytochrome
(B): Cytochrome
(C) Chiorophyll

(D) Anthocyanin

Who coined the term ‘mitochondria’?

(A) Benda

(B) Altman
(C) de Duve

(D) Claude

(8)
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In mice, Y is the dominant allele for
yellow fur and y is the recessive allele
for grey fur, since Y is lethal when
homozygous, the result of cross Yy x Yy
will be

(A)
(B)
(©)

3 yellow : 1 grey mice
2 yellow : 1 grey mice
1 yellow : 1 grey mice
(D) 1 yellow : 2 grey mice

Vegetative propagation in Pistia occurs by
(A)
(B)
(C)

stolon
offset

runner
(D) sucker

If both parents are carrier of thalassemia,
which is an autosomal disorder, what are
the chances of pregnancy resulting in
an affected child?

(A)
(B)
(©)

50%
25%
100%
(D) No chance

In an angiosperm, the functional
megaspore develops into

(A)
(B)
(©)
(D)

ovule

endosperm

embryo sac

embryo

Electron transport system is present in the
A)
(B)

(C) outer mitochondrial chamber

outer mitochondrial membrane

inner mitochondrial membrane

(D) inner mitochondrial chamber

(9)

36. TqEE CFCE, Y S =W @R

37.

38.

39.

40.

ey o0 SifeR AR y PR EER
ey AR Sifere | @R Y eiferiin
T4 RIS SR AE O Gifb
AIETS! 7 | OIRE Yy x Yy AR
TE ANeq IR
(A) 3 =W
B) 2% =wm : 1% or T

©) 1% == : 1% ©™ TR

@) 1% == : 2% m TE
GBI (Pistia)¥ o%e Gi" 956 T
7R G 2

(A) IFIRT

(B) THURT

(C) k<=

(D) TL4T

AR @ FEIEERIES iR,
o O@ G TSR AV FOO! TR
TE WEE Fwy w1 W2

(A) 50%

(B) 25%

(C) 100%

(D) I TERA =R

g7 2eE Sfem TR Ty A
e =

A for

(B) T

(C) =l

(D)
e cfeTegt TS AT
(A) TRGRAGIR e

(B) TRGRAGAR Sr@eoma

(C) WRGIFRGER IRATHID

(D) WEGRFGAT SREEATHD
[P.T.O.

1% om T



41.

42.

43.

45.

13

A

During photolysis in photosynthesis 12
water molecules will release

(A) 24H*
(B) 48H*
(C) 12H*
(D) 6H*

Fungal spores produced asexually at the
tip of special hyphae are called

(A)
B

(C) ascospores

sporangiospores

conidia

(D) zoospores

Some of the epidermal cells of of
root form root hairs.

(A)
(B)
(€)

region of maturation
region of meristematic activity
region of elongation

(D) Al of the above

Carrier proteins are involved in

(A) active transport of ions and

facilitated diffusion

(B)

passive transport of ions and
simple diffusion

(C)
(D)

water transport

All of the above

A person with 47 chromosomes, due to
an additional Y chromosome, suffers
from a condition which is sometimes
called

Down's syndrome

(B)

Jacob's syndrome or supermale
syndrome

(€)
(D)

Turner's syndrome

Klinefelter's syndrome

(10)
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In monocot, calyptrogen gives rise to
root hair

root cap

fibrous root

(D) None of the above

Secondary medullary rays are mainly
composed of sclerenchyma cells

involved in storage of food

involved in radial conduction of
food and water

(D) involved in vertical transport of food

and water

What would be the chromosome
number of the alerone tip cell with 42
chromosomes in its root tip cells?

(A)
(B)
(©)
©)

Water containing cavities in vascular
bundles are found in

42
63
84
21

A)
(B)
(C)
(D)

maize

cycas

pinus

sunflower

Anerobic respiration in yeast yields
A)
(B)
(©)

ethanol and CO,
lactic acid and CO,
CO, and water

(D) pyruvic acid and O,

(11)
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(C)

GROUP—B / ©1%—B
ZOOLOGY / #hai<wm

Directions : Answer the following questions
by selecting the correct option.

In earthworm stomach extends from
A)
(B)
(C)
(D)

5-7 segments
8-9 segments
10-13 segments
9-14 segments

Which one is recently declared as state
insect of Tripura?

(A)
(B)
(©)
(D)

Housefly
Mosquito
Honeybee
Silk moth

Which of the following amino acids was
not found to be synthesized in Miller's
experiment?

(A)
(B)
(©)
(D)
Theory of Pangenesis was proposed by
(A),
(B)
(C)
(D)

Aspartic acid
Glutamic acid
Alanine

Glycine

Weismann
Darwin

Hugo de vries
Lamarck

In rabbit, the digestion of cellulose takes
place in

A)
(B8)

rectum
ileum
colon

(D) caecum

(12)
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In a grazing food chain, carnivores may
also be referred to as

(A)
(B)
()

primary producer
primary consumer
secondary consumer
(D) secondary producer

The diversity of habitat over the total
geographical area is called

(A) Alpha diversity
(B) Beta diversity
(C) Gamma diversity
(D) Delta diversity

Duplication of centriole occurs during
A)
(B)

(©)

interphase
prophase

early metaphase
(D) late telophase

Identify the .meiotic stage in which
homologous chromosomes separate
while the sister chromatids remain
associated at their centromere.

A)
(8)
(©)
(D)

Presence of gills in the tadpole of frog
indicates that

Metaphase-|
Metaphase-ii
Anaphase-|

Anaphase-i|

(A)

(8)
(©)

fishes were amphibian in the past
frogs will have gills in future

frogs were evolved from gilled
ancestors

None of the above

(D)

(13)
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About how many times the nymph of
Periplaneta  americana  undergoes
moulting before becoming an adult?

(A)
(B)
(©)

4 times
7 times
11 times
(D) 13 times

Calcium metabolism in birds gets
disturbed due to the effect of

(A)
(B)
(©)
(D)

mercury
cadmium
DDT
lead

The number of cervical vertebrae in
giraffe is

A 7
(B) 8
(C) 12
(D) 26

Organisation responsible for maintaining
Red Data Book is

)
(8)
(©)
(D)

Which of the following is not a living

WWF
CITES
IUCN
IBWL

fossil?

A)
(B)
(©)

King Crab
Sphenodon
Archaeopteryx

(D) Ginkgo biloba

N
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in 1984 Bhopal Gas Tragedy took place
because methyl isocyanate

(A) reacted with DDT

(B) reacted with ammonia

(C) reacted with CO,

reacted with water

(8)

Acid rain is mainly caused due to
increase in the levels of the gas(es)

(A) SO, only
(B) CO, only
(C)

D)

SO, and NO,
80, and CO,
In pond ecosystem, diatoms represent
(A) producer
(=)
(©)

primary consumer
secondary consumer
(D) decomposers

Which one has heterocercal tail?
(A) Rohu fish
(B) Shark
(C) Whale
(D) Grass carp
Skull of bird is
(A) monocondylic

(B)
(C)

dicondylic
amphicondylic

(D)

tricondylic

(15)
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Which of the following is a secondary
pollutant?

A) NO
(B) NO,
(C) SO,
(D) PAN

Which one of the following is not a
gaseous biogeochemical cycle in
ecosystem?

(A) Oxygen cycle
(B) Phosphorus cycle
(C) Nitrogen cycle
(D) Carbon cycle

Silent valley is a tropical evergreen forest
located in

(A) Kerala

(B) Karnataka
(C) Odisha

(D) Maharashtra

Balbiani rings are the structural features
of

(A) allosomes
(B) . polytene chromosomes
(C) autosomes

(D) lampbrush chromosomes

World  Summit on  Sustainable
. Development (2002) was held in

(A) Brazil

(B) Sweden

(C) Argentina

(D) South Africa

7.

72.

73.

74,

75.
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Lichens are the indicator of
(A) water pollution

(B)
(C)

air pollution
soil pollution
(D) Al of the above

In earthworm typholosole helps in
(A) excretion
(B)

(C)

protection

increasing the effective area of
absorption
(D) None of the above

The most swollen segment present in
the leg of cockroach is

(A)
(B)
(C)

coxa
trochanter
femur

(D)

tarsus

Which of the following characteristics is
not shared by birds and mammals?

(A) Breathing using lungs

(B)
(C)

Viviparity

Warm blooded nature
(D) Ossified endoskeleton
Convergent evolution is shown by
(A) homologous organs
(B)
(©)

(D)

analogous organs
vestigial organs

All-of the above

(17)
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World ozone day is celebrated on
A)
=)
()

Sth June

21st April

16th September
(D) 2nd April
Ecolocation is a trait of
(A) bat
(B) bird
(C) insect
(D) monkey

Which of the following statements
regarding Aves is false?

Heart is four chambered consisting
of two auricles and two ventricles

Hind limbs are modified into wings
Mouth is replaced by beak
(D) They are warm — blooded animals

The alimentary canal of frog is short in
length because frog is

(A) herbivorous
(B) carnivorous
(C) hmnivorous
(D) None of the above

Which one of the following is not a
wildlife conservation project?

®)
(8)
(©)

Project Hangul
Project Dodo
Project Indian Bustard

(D) Project Tiger

(18)
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®

(C)

Which of the following species is
restricted to a specific area?
(A) Sibling species

(B) Endemic species

(©)

(D)

Allopatric species
Sympatric species
External fertilisation occurs in

(A) terrestrial environment

(B) air
(C) aquatic environment
(D) Both (A) and (C)

Which vitamin is not found in any animal
food?

(A) Vitamin B,

(B) Vitamin C

(C) Vitamin D
(D) Vitamin K

In earthworm,
occurs through

respiratory exchange

(A) trachea

book gills
(©)
(D)

moist body surface
book lung

Interzonal fibres appear in
(A)
(B)

anaphase
prophase
late metaphase

(D) early metaphase

(19)
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(B)

(C)

Which of the following options shows
bisexual animals only?

(A) Honeybee, Sponge, Leech
Sponge, Cockroach, Amoeba
(C) Earthworm, Tapeworm, Leech
(D) Tapeworm, Earthworm, Honeybee
A bivalent consists of

(A)
(B)
(€)
(D)

Minamata disease is caused due to
consumption of

two chromatids and one centromere
four chromatids and two centromeres
two chromatids and two centromeres

four chromatids and four centromeres

seafood jot of

cadmium

(A) containing a

fish contaminated with mercury
oysters with lots of pesticides
with

seafood contaminated

selenium
Flight muscles of bird are attached to
(A) clavicle
(BY

()

scapula

keel of sternum
(D) coracoid

The kidney of an adult frog is
A)

(B)

metanephros
opisthonephros
pronephros

(D) mesonephros

(20)
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The nephridia in earthworm are

analogous to

(A) nematoblast of Hydra

(B) flame cells of planaria
(C) green glands of prawn
(D) Both (B) and (C)

In cockroach, excretory products
collected in malpighian tubules will first
enter

(A) gizzard

(B) hepatic caeca
(C) haemocoel
(D) hindgut

In which of the following fishes, gill is
covered by operculum?

(A) Trygon
(B) Torpedo
(C) Chimaera
(D) Scoliodon

In both male and female pigeons milk is
secreted from

(A) salivary glands

(B) modified sweat glands
(C) crop

(D) gizzard

In which animal conjugation occurs as a
sexual reproduction?

(A) Birds
(B) Hydra

- (C) Paramoecium

(D) Spirogyra
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Directions : Answer the following questions
by selecting the correct option.
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The layer of cells that secrete enamel of
tooth is

(A) odontoblast
(B) ameloblast
(C) osteoblast
(D) dentoblast

How many times a red blood corpuscle
will have to pass through the heart in its
journey from hepatic artery to the aorta?

(A) Once

(B) Two times

(C) Four times

(D) More than four times

Oxygen dissociation curve shifts to the
right when

(A) partial pressure of carbon dioxide
(PCO,) decreases

(B) partial pressure of carbon dioxide
(PCO,) increases

(C) there is an increase in pH
(D) None of the above
Tachycardia is

(A) a slow heart rate usually below
60 beats/minute

(B) a rapid heart rate usually above
100 beats/minute

(C) a normal heart rate
(D) None of the above
‘H’ shaped gray matter is found in

(A) spinal cord

(B) cerebellum

(C) cerebrum

(D) medulla oblongata
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Accumulation of uric acid crystals in the
joints may result in

(A) rheumatoid arthritis
(B) osteoarthritis

(C) osteoporosis

(D) gout

Heart sound ‘dub’ is produced due to
closure of

(A) tricuspid valve
(B) semilunar valves
(C) bicuspid valve
(D) Both (A) and (C)

Blood flowing through umbilical cord of
mammalian foetus is

(A) 100% foetal

(B) 100% maternal

(C) 75% maternal and 25% foetal
(D) 50% maternal and 50% foetal

In a man, abducens nerve is injured.
Which one of the following functions will
be affected?

(A) Movement of eyeball
(B) Movement of tongue
(C) Swallowing

(D) Movement of neck

Low-level of estrogen and progesterone
stimulates production of

(Ay LH
(B) FSH-RH

- (C) GH

(D) All of the above

(23)
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Sperm capacitation takes place in the
A)
(B)
(C)

epididymis

seminal vesicle
female genital tract
(D)

rete testis

Which vertebrate organ receives only
oxygenated blood?

A)
(B)
(©)

(D)

Spleen
Lung
Gill
Liver

Enterokinase takes part in the conversion
of

(A)
(B)
(€)
(D)
Stensen's duct is associated with
A)
(B)
(©)
(D)

During prolonged fasting, in what sequence
are the following organic compounds used
up by the body?

pepsinogen to pepsin
trypsinogen to trypsin
protein to peptide

caseinogen to casein

parotid gland
submaxillary gland
sublingual gland

cardiac gland

(A) First protein, next fat and lastly
carbohydrate

| (B) First carbohydrate, next fat and
lastly protein

(C) First fat, next carbohydrate and
lastly protein

(D) First carbohydrate, next protein

and lastly fat

(24)
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(©)

A man suddenly sees a tiger. His
heartbeat goes up, blood pressure
increases etc. Which hormone is
released at this time in his body?

(A)
8)
(@)
(D)

Adrenaline only
Calcitonin only
Aldosterone

Adrenaline and calcitonin

Hormone that prepares and maintains
the uterus during pregnancy is produced
by

(A)
(B)
(©)
(D)

corpus luteum
corpus albicans
graafian follicle

corpora cardiaca

Which of the following cells actively
participate during allergy?

(A)
(B)
(©)
(D)

T-lymphocyte
Liver cell
Mast cell

Red blood cell

What is the space between arachnoid
mater and pia mater called?

N
(B)
©)
(D)

Sub-arachnoid space
Supra-arachnoid space
Sub-dural space

None of the above

Brain sand is found in
(A)
(B)

pineal body
thymus gland
pituitary gland

(D) thyroid gland

(25)
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(D)

Exchange of gases in lung alveoli occurs
through

(A)
(B)

(©)

active transport
simple diffusion
osmosis

(D) facilitated diffusion

Castle's intrinsic factor is secreted by
(A)
(=)
(C)

Crypts of Lieberkuhn
Brunner's gland
gastric gland

(D) Both (A) and (B)
Arytenoid cartilage occurs in
A)
(B)
(C)
(D)

larynx
nose
hyoid
sternum

About 1200 m! of air remained in the
lungs after forceful expiration is called
(A) inspiratory reserve volume

residual volume

(B).
(C) expiratory reserve volume
(D) vital capacity

Which one is unpaired facial bone?

(A) Lacrimal

(B) Vomer

(C) Nasal

Palatine

(26)
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Red muscles have abundant
(A)
(B)
(€
(D)

lactic acid and acetic acid
glucose and haemoglobin
relaxin and myosin
myoglobin and cytochrome
Eye lens is

A)
(B)
(©)

biconcave
concave
biconvex
(D) None of the above

Parasympathetic ~ nervous

develops from
(A)
(B)
()
(D)

Deficiency of a hormone increases K~
and decreases Na* in blood. It is
secreted from ____ layer of adrenal
cortex.

system

thoracolumber region
cervical region
craniosacral region

lumber region

(A)
(B)
(C) zona reticularis
(D)

Xerophthalmia is caused due to the
deficiency of

zona fasciculata

zona glomerulosa

Both (A) and (B)

(A) vitamin K

(B)

vitamin C

| (C) vitamin A

(D) vitamin D

(27)
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(C)

The volume of blood pumped out by each
ventricle of heart during a cardiac cycle
is about

(A)  40ml
(B)

(C)

70 mi
1200 mi
(D) 5000 ml

Which of the following is a part of
pectoral girdle?

(A)
(B)
(€

flium
Ischium
Acetabulum
(D) Glenoid cavity

Medical termination of pregnancy (MTP)
is considered safe up to weeks of
pregnancy.

(A)
(B)
(©)
(D)

eight weeks
twelve weeks
eighteen weeks
six weeks
Pacinian corpuscles are
(A)
(B)
(©)

(D) pressure receptor

glands
pain receptor

touch receptor

Intervertebral disc consists of a shock
absorber connective tissue known as

A)
(B)

hyaline cartilage
elastic cartilage
fibro cartilage

(D) calcified cartilage

(28)
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©)

Medulla oblongata encloses
A)
(B)
(©)
(D)

fourth ventricle of brain
third ventricle of brain
second ventricle of brain

optic lobes of brain

The hormones oxytocin and vasopressin
are synthesized by the

(A)
(B)
(©)
D)

neurohypophysis
adenohypophysis
hypothalamus
adrenal medulla

The joint between atlas and axis
vertebrae is called

A)
B)
(C) condyloid joint
(D)

saddle joint

hinge joint

pivot joint

Antigen binding site in an antibody is
found

between two light chains
between two heavy chains

between one light chain and one
heavy chain

either between two light chains or
between one heavy chain and one
light chain depending upon the
nature of antigen

Human kidneys are situated between the
levels of

(A) last thoracic vertebra and third

lumber vertebra

last thoracic vertebra and fourth
lumber vertebra

(B)
first lumber vertebra and fifth
lumber vertebra

None of the above

(D)

(29)
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(©)

Colles' fracture is associated with
(A)
(B)
(©)
(D)

The volume of 'anatomical dead space’
air is normally

femur bone
ulna bone
humerus bone

radius bone

(A) 230mi
(B)
(©)
©)

Alzheimer's disease in human
associated with the deficiency of

500 mi
190 mi
150 mi

is

(A)
(B)
(C)
(D)

dopamine

gamma amino butyric acid
acetylcholine

glutamic acid

The correct sequence of spermatogenetic
stages leading to the formation of sperms
in a mature human testis is

(A) Spermatocyte — Spermatogonia —

Spermatid — Sperms

(B)

Spermatogonia — Spermatocyte —
Spermatid — Sperms

(C) Spermatogonia — Spermatid —

Spermatocyte — Sperms

(D) Spermatid — Spermatocyte —

Spermatogonia — Sperms

Which one of the following is not an
autoimmune disease?

A)
(B)

Myasthenia gravis
Hashimoto's disease
Myotonic muscular dystrophy

(D) Graves' disease

(30)
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GIP (Gastric inhibitory peptide)

(A) inhibits gastric secretion and
motility

(B) stimulates gastric secretion
(C) inhibits bile secretion
(D) stimulates bile secretion

Short lived immunity acquired from
mother to foetus across placenta or
through mother's milk to the infant is
categorised as

(A) naturally acquired active immunity
acquired

(B) naturally passive

immunity

(C) artificially acquired active immunity

(D) artificially acquired passive
immunity
In a healthy adult man, the normal

diastolic pressure is
(A) 95mm Hg

(B) 120 mm Hg
(C) 80mm Hg

(D) 100 mm Hg

The hepatic portal vein carries blood to
liver from

(A), stomach
(B) kidneys
(C) intestine
(D) heart

Name the chronic respiratory disorder
caused mainly by cigarette smoking.

(A) Asthma

(B) Respiratory acidosis

(C) Respiratory alkalosis

(D) Emphysema

(31)
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
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1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable
to be changed.
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2. The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks
on the OMR Answer Sheet. Do not write your Roll Number anywhere else except at the specified space
on the OMR Answer Sheet.
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3. Handle the Question Booklet and OMR Answer Sheet with utmost care, as under no circumstances
(except technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.
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4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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5. The candidates are not allowed to carry any textual material, printed or written, bits of papers, pager,
mobile phone, electronic devices or any other material except the Admit Card and Photo Identity Card
inside the Examination Hall/Room.
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6. FEach candidate must show on demand his / her Admit Card and Photo Identity Card to the Invigilator/
Examination Officials.
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7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/
her seat in the Examination Hall/Room. _
CTOR PARNGITS 41 TeReta-«r o sl 2ol «RiEl «@ml 2@ O PR 29 ARRET $US AREH Al

8. The candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first
after taking their seats in the Examination Hail / Room and second at the time of handing over their OMR
Answer Sheet to the Invigilator.
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9. The candidates shouid not leave the Examination Hall / Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the OMR Answer Sheet
and dealt with as an unfair means case.
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10. Use of any type of calculating device is strictly prohibited.
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11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct
in the Examination Hall / Room. All cases of unfair means will be dealt with as per rules and regulations
of the Board.
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12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall / Room. The candidates are allowed to take away the Question Booklet with them.
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